# APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	SALLY SWENSON	Page 1 of	5
Project: JACOBS	ON - FUREY POND		
Contract Number:	8268	Payment Number:	4
DO NOT WRITE	E IN THIS BOX - TO BE COMPLETED	BY CITY ENGINEERING PERSONNEL ONLY	
TOTAL FROM PAGE:	5	\$673,466.92	
LESS RETAINAGE:		20,289.11	
SUBTOTAL:		653,177,81	
LESS PREVIOUS PA	YMENTS:	515,228.64	
CURRENT PAYMENT	DUE:	\$137,949,17	
by this a and that CONTRA  INSPECTOR'S CERT  The unduly this a	pplication for payment has been completed the current payment is now due.  ACTOR: SPEEDWAYSAND & GRAVEL  IFICATE FOR PAYMENT:  ersigned Inspector certifies that to the best pplication for payment has been completed the contractor is entitled to payment for the	I in accordance with the contract document    7-19-  DATE  of his/her knowledge, the work covered in accordance with the contract document	19
PLEASE PROVIDE THE	TOR  TIME PERIOD FOR THIS PAYMENT REQU	DATE  EST: FROM: 7-6-19  TO: 7-31-19	
PLEASE PROVIDE THE	CONTRACTOR/SUBCONTRACTORS THAT		RIOD:
	PAYMENT REQUEST SHALL BE SUBMITTED PAYMENTS CAN BE PROCESSED EVERY TO		

ACCOUNT NO. 10160 - 403 - 172 ACCOUNT NO. 10314 - 84 - 174 - 84400

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

SPEEDWAY SAND & GRAVEL, INC. JACOBSON - FUREY POND CONTRACT NO. 8268 PAYMENT NO. 4

PAYME	ACT NO. 8268 NT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
ACCOU	NT NO. 10160 - 403 - 172												
40102	CRUSHED AGGREGATE BASE COURSE, GRADATION NO. 2	1,487.00	TON	\$18.00	\$26,766.00		976.46	\$17,576.28	273.54	\$4,923.72	1,250.00	\$22,500.00	84.06%
90032	SITE CLEARING	1.00	LUMP SUM	\$14,242.50	\$14,242.50		0.00	\$0.00	1.00	\$14,242.50	1.00	\$14,242.50	100.00%
90038	SEGREGATION AND PLACEMENT OF CONTAMINATED MATERIAL	600.00	C.Y.	\$28.00	\$16,800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90050	SEEDING - NO MOW TURF	7,851.00	S.Y.	\$3.00	\$23,553.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS			•	\$81,361.50	•	·	\$17,576.28	•	\$19,166.22	•	\$36,742.50	45.16%
ACCOU	NT NO. 10314 - 84 - 174 - 84400												
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$500.00	\$500.00		0.00	\$0.00	1.00	\$500.00	1.00	\$500.00	100.00%
10911	MOBILIZATION	1.00	EACH	\$10,000.00	\$10,000.00		0.00	\$0.00	1.00	\$10,000.00	1.00	\$10,000.00	100.00%
20101	EXCAVATION CUT	7,932.00	C.Y.	\$9.00	\$71,388.00		1,982.00	\$17,838.00	5,950.00	\$53,550.00	7,932.00	\$71,388.00	100.00%
20217	CLEAR STONE	342.00	TON	\$32.00	\$10,944.00		28.31	\$905.92	324.56	\$10,385.92	352.87	\$11,291.84	103.18%
20221	TOPSOIL	11,266.00	S.Y.	\$1.70	\$19,152.20		9,345.40	\$15,887.18	0.00	\$0.00	9,345.40	\$15,887.18	82.95%
20228	MEDIUM RIPRAP - GLACIAL FIELD STONE	228.00	TON	\$80.00	\$18,240.00		0.00	\$0.00	243.81	\$19,504.80	243.81	\$19,504.80	106.93%
20233	RIPRAP FILTER FABRIC TYPE HR	766.00	S.Y.	\$3.00	\$2,298.00		0.00	\$0.00	544.90	\$1,634.70	544.90	\$1,634.70	71.14%
20303	SAWCUT ASPHALT PAVEMENT	28.00	L.F.	\$10.00	\$280.00		32.00	\$320.00	0.00	\$0.00	32.00	\$320.00	114.29%
20311	REMOVE SEWER ACCESS STRUCTURE	2.00	EACH	\$800.00	\$1,600.00		0.00	\$0.00	2.00	\$1,600.00	2.00	\$1,600.00	100.00%
20312	REMOVE CATCHBASIN	3.00	EACH	\$400.00	\$1,200.00		0.00	\$0.00	3.00	\$1,200.00	3.00	\$1,200.00	100.00%
20314	REMOVE PIPE	703.00	L.F.	\$15.00	\$10,545.00		0.00	\$0.00	659.00	\$9,885.00	659.00	\$9,885.00	93.74%
20331	ABANDON SEWER ACCESS STRUCTURE	2.00	EACH	\$600.00	\$1,200.00		0.00	\$0.00	2.00	\$1,200.00	2.00	\$1,200.00	100.00%
20335	ABANDON SEWER PIPE WITH SLURRY	25.00	C.Y.	\$400.00	\$10,000.00		0.00	\$0.00	24.80	\$9,920.00	24.80	\$9,920.00	99.20%
20336	PIPE PLUG	8.00	EACH	\$250.00	\$2,000.00		0.00	\$0.00	5.00	\$1,250.00	5.00	\$1,250.00	62.50%
20705	DETENTION BASIN SEEDING	3,418.00	S.Y.	\$2.50	\$8,545.00	05.0.05.0	2,033.30	\$5,083.25	0.00	\$0.00	2,033.30	\$5,083.25	59.49%

SPEEDWAY SAND & GRAVEL, INC. JACOBSON - FUREY POND CONTRACT NO. 8268 PAYMENT NO. 4

PAYME	NT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
21002	EROSION CONTROL INSPECTION	10.00	EACH	\$500.00	\$5,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21011	CONSTRUCTION ENTRANCE	2.00	EACH	\$500.00	\$1,000.00		0.00	\$0.00	2.00	\$1,000.00	2.00	\$1,000.00	100.00%
21013	STREET SWEEPING	1.00	LUMP SUM	\$2,000.00	\$2,000.00		0.25	\$500.00	0.75	\$1,500.00	1.00	\$2,000.00	100.00%
21014	CLEAR STONE BERM (DITCH CHECK)	6.00	EACH	\$900.00	\$5,400.00		0.00	\$0.00	4.00	\$3,600.00	4.00	\$3,600.00	66.67%
21018	SILT SOCK (8 INCH) - PROVIDE, INSTALL & MAINTAIN	500.00	L.F.	\$8.00	\$4,000.00		0.00	\$0.00	50.00	\$400.00	50.00	\$400.00	10.00%
21019	SILT SOCK (8 INCH) - REMOVE & RESTORE	500.00	L.F.	\$1.00	\$500.00		50.00	\$50.00	0.00	\$0.00	50.00	\$50.00	10.00%
21022	SILT FENCE - PROVIDE, INSTALL & MAINTAIN	1,000.00	L.F.	\$3.00	\$3,000.00		0.00	\$0.00	868.00	\$2,604.00	868.00	\$2,604.00	86.80%
21023	SILT FENCE - REMOVE & RESTORE	1,000.00	L.F.	\$2.00	\$2,000.00		868.00	\$1,736.00	0.00	\$0.00	868.00	\$1,736.00	86.80%
21052	POLYMER STABILIZATION	11,266.00	S.Y.	\$0.80	\$9,012.80		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21061	EROSION MATTING, CLASS I, URBAN TYPE A	1,245.00	S.Y.	\$2.40	\$2,988.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21064	EROSION MATTING, CLASS I, TYPE B - ORGANIC	3,418.00	S.Y.	\$2.80	\$9,570.40		7,312.10	\$20,473.88	0.00	\$0.00	7,312.10	\$20,473.88	213.93%
40202	HMA PAVEMENT 4 LT 58-28 S	60.00	TON	\$121.25	\$7,275.00		172.69	\$20,938.66	0.00	\$0.00	172.69	\$20,938.66	287.82%
40301	FULL WIDTH GRINDING	440.00	S.Y.	\$8.75	\$3,850.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50211	SELECT BACKFILL STORM SEWER	568.00	T.F.	\$1.00	\$568.00		0.00	\$0.00	581.00	\$581.00	581.00	\$581.00	102.29%
50212	SELECT BACKFILL SANITARY SEWER	46.00	T.F.	\$1.00	\$46.00		0.00	\$0.00	45.00	\$45.00	45.00	\$45.00	97.83%
50229	UTILITY TRENCH PATCH TEMPORARY	280.00	T.F.	\$150.00	\$42,000.00		60.00	\$9,000.00	70.00	\$10,500.00	130.00	\$19,500.00	46.43%
50353	SANITARY SEWER LATERAL	46.00	L.F.	\$32.58	\$1,498.68		0.00	\$0.00	45.00	\$1,466.10	45.00	\$1,466.10	97.83%
50356	RECONNECT	1.00	EACH	\$3,513.00	\$3,513.00		0.00	\$0.00	1.00	\$3,513.00	1.00	\$3,513.00	100.00%
50361	WASTEWATER CONTROL	1.00	LUMP SUM	\$3,000.00	\$3,000.00		0.00	\$0.00	1.00	\$3,000.00	1.00	\$3,000.00	100.00%
50401	12 INCH TYPE 1 RCP STORM SEWER PIPE	86.00	L.F.	\$119.03	\$10,236.58		0.00	\$0.00	81.00	\$9,641.43	81.00	\$9,641.43	94.19%
50410	42 INCH TYPE 1 RCP STORM SEWER PIPE	46.00	L.F.	\$214.40	\$9,862.40		0.00	\$0.00	31.00	\$6,646.40	31.00	\$6,646.40	67.39%
50411	48 INCH TYPE I RCP STORM SEWER PIPE	373.00	L.F.	\$163.20	\$60,873.60		0.00	\$0.00	359.00	\$58,588.80	359.00	\$58,588.80	96.25%
50421	29 INCH X 45 INCH TYPE I HERCP STORM SEWER PIPE	64.00	L.F.	\$236.38	\$15,128.32	CE 2 OE 6	0.00	\$0.00	32.00	\$7,564.16	32.00	\$7,564.16	50.00%

PAGE 3 OF 6

SPEEDWAY SAND & GRAVEL, INC. JACOBSON - FUREY POND CONTRACT NO. 8268

PAYME	NT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
50423	38 INCH X 60 INCH TYPE I HERCP STORM SEWER PIPE	82.00	L.F.	\$301.70	\$24,739.40		0.00	\$0.00	75.00	\$22,627.50	75.00	\$22,627.50	91.46%
50461	12 INCH RCP AE	1.00	EACH	\$1,193.00	\$1,193.00		0.00	\$0.00	1.00	\$1,193.00	1.00	\$1,193.00	100.00%
50469	42 INCH RCP AE	2.00	EACH	\$1,848.75	\$3,697.50		0.00	\$0.00	2.00	\$3,697.50	2.00	\$3,697.50	100.00%
50470	48 INCH RCP AE	3.00	EACH	\$2,264.25	\$6,792.75		0.00	\$0.00	2.00	\$4,528.50	2.00	\$4,528.50	66.67%
50484	29 INCH X 45 INCH HERCP AE	4.00	EACH	\$1,630.00	\$6,520.00		0.00	\$0.00	4.00	\$6,520.00	4.00	\$6,520.00	100.00%
50486	38 INCH X 60 INCH HERCP AE	1.00	EACH	\$4,500.00	\$4,500.00		0.00	\$0.00	1.00	\$4,500.00	1.00	\$4,500.00	100.00%
50609	42 INCH RCP AE GATE	1.00	EACH	\$2,301.60	\$2,301.60		0.00	\$0.00	2.00	\$4,603.20	2.00	\$4,603.20	200.00%
50610	48 INCH RCP AE GATE	1.00	EACH	\$2,863.60	\$2,863.60		0.00	\$0.00	2.00	\$5,727.20	2.00	\$5,727.20	200.00%
50624	29 INCH X 45 INCH HERCP AE GATE	2.00	EACH	\$2,108.00	\$4,216.00		0.00	\$0.00	4.00	\$8,432.00	4.00	\$8,432.00	200.00%
50726	6X6 STORM SAS	2.00	EACH	\$6,500.00	\$13,000.00		0.00	\$0.00	2.00	\$13,000.00	2.00	\$13,000.00	100.00%
50741	TYPE "H" INLET	1.00	EACH	\$2,500.00	\$2,500.00		0.00	\$0.00	1.00	\$2,500.00	1.00	\$2,500.00	100.00%
50792	STORM SEWER TAP	1.00	EACH	\$1,500.00	\$1,500.00		0.00	\$0.00	1.00	\$1,500.00	1.00	\$1,500.00	100.00%
50801	UTILITY LINE OPENING (ULO) (UNDISTRIBUTED)	2.00	EACH	\$700.00	\$1,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
70002	FURNISH AND INSTALL 6 INCH PIPE & FITTINGS	15.00	L.F.	\$107.74	\$1,616.10		0.00	\$0.00	18.00	\$1,939.32	18.00	\$1,939.32	120.00%
70031	FURNISH AND INSTALL 6-INCH WATER VALVE	2.00	EACH	\$1,968.40	\$3,936.80		0.00	\$0.00	2.00	\$3,936.80	2.00	\$3,936.80	100.00%
70040	FURNISH, INSTALL AND SALVAGE HYDRANT	2.00	EACH	\$5,029.35	\$10,058.70		0.00	\$0.00	2.00	\$10,058.70	2.00	\$10,058.70	100.00%
70080	CUT-IN OR CONNECT TO EXISTING WATER SYSTEM	2.00	EACH	\$2,655.25	\$5,310.50		0.00	\$0.00	2.00	\$5,310.50	2.00	\$5,310.50	100.00%
70090	ABANDON WATER VALVE BOX	2.00	EACH	\$250.00	\$500.00		0.00	\$0.00	2.00	\$500.00	2.00	\$500.00	100.00%
90001	ASBESTOS CEMENT BOARD	128.00	S.F.	\$1.00	\$128.00		0.00	\$0.00	128.00	\$128.00	128.00	\$128.00	100.00%
90002	EXPANSION JOINT CAULK	16.00	L.F.	\$1.00	\$16.00		0.00	\$0.00	16.00	\$16.00	16.00	\$16.00	100.00%
90003	BAKELITE FROM METER SOCKET	1.00	LUMP SUM	\$900.00	\$900.00		0.00	\$0.00	1.00	\$900.00	1.00	\$900.00	100.00%
90004	OTHER HAZARDOUS MATERIALS	1.00	LUMP SUM	\$800.00	\$800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90005	DEMOLITION OF STRUCTURES	1.00	LUMP SUM	\$28,000.00	\$28,000.00		0.00	\$0.00	1.00	\$28,000.00	1.00	\$28,000.00	100.00%

SPEEDWAY SAND & GRAVEL, INC. JACOBSON - FUREY POND CONTRACT NO. 8268 PAYMENT NO. 4

	ACT NO. 8268 NT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
90030	REMOVE EXISTING WATER MAIN & APPURTENANCES	220.00	L.F.	\$15.00	\$3,300.00		0.00	\$0.00	217.00	\$3,255.00	217.00	\$3,255.00	98.64%
90031	STORM CONTROL	1.00	LUMP SUM	\$10,000.00	\$10,000.00		0.25	\$2,500.00	0.75	\$7,500.00	1.00	\$10,000.00	100.00%
90033	REMOVE BUILDING FOUNDATIONS	1.00	LUMP SUM	\$4,000.00	\$4,000.00		0.00	\$0.00	1.00	\$4,000.00	1.00	\$4,000.00	100.00%
90034	REMOVE & REPLACE FENCE	200.00	L.F	\$40.00	\$8,000.00		0.00	\$0.00	150.00	\$6,000.00	150.00	\$6,000.00	75.00%
90035	KNOTWEED MANAGEMENT	560.00	S.Y.	\$61.00	\$34,160.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90036	SITE DEWATERING	1.00	LUMP SUM	\$25,000.00	\$25,000.00		0.00	\$0.00	1.00	\$25,000.00	1.00	\$25,000.00	100.00%
90037	EROSION CONTROL DITCH INSTALLATION, MAINTENANCE & RESTORATION	1.00	LUMP SUM	\$10,000.00	\$10,000.00		0.00	\$0.00	1.00	\$10,000.00	1.00	\$10,000.00	100.00%
90039	6'x7' STORM SAS W/ INTERNAL WEIR	1.00	EACH	\$10,000.00	\$10,000.00		0.00	\$0.00	1.00	\$10,000.00	1.00	\$10,000.00	100.00%
90040	6'x6' STORM SAS W/ INTERNAL WEIR	1.00	EACH	\$9,500.00	\$9,500.00		0.00	\$0.00	1.00	\$9,500.00	1.00	\$9,500.00	100.00%
90041	CLAY LINER PROVISION AND PLACEMENT	713.00	C.Y.	\$20.00	\$14,260.00		363.00	\$7,260.00	350.00	\$7,000.00	713.00	\$14,260.00	100.00%
90042	BOULDER/ERRATIC OUTFALL	118.00	TON	\$150.00	\$17,700.00		0.00	\$0.00	121.52	\$18,228.00	121.52	\$18,228.00	102.98%
90043	OVERFLOW POND/RAIN GARDEN CONSTRUCTION	1.00	EACH	\$5,420.00	\$5,420.00		0.50	\$2,710.00	0.50	\$2,710.00	1.00	\$5,420.00	100.00%
90044	POLYMER SETTLING	10.00	LBS	\$50.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90045	TREE PLANTING	8.00	EACH	\$800.00	\$6,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90046	TREE MAINTENANCE	1.00	LUMP SUM	\$4,000.00	\$4,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90047	SEGREGATION AND DISPOSAL OF TRASH	45.00	C.Y.	\$142.00	\$6,390.00		0.00	\$0.00	30.00	\$4,260.00	30.00	\$4,260.00	66.67%
90048	EXCESS CUT HAULING AND DISPOSAL	4,959.00	C.Y.	\$12.00	\$59,508.00		959.00	\$11,508.00	4,000.00	\$48,000.00	4,959.00	\$59,508.00	100.00%
90049	CONTAMINATED SOIL HAULING (UNDISTRIBUTED) TEMPORARY CONSTRUCTION	10.00	TON	\$236.00	\$2,360.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90051	FENCING (INDISTRIBITED)	500.00	L.F.	\$6.00	\$3,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$730,202.93			\$116,710.89		\$516,351.53	•	\$633,062.42	86.70%
CONTRA	ACT TOTALS				\$811,564.43		•	\$134,287.17		\$535,517.75		\$669,804.92	<b>-</b> 82.53%

SPEEDWAY SAND & GRAVEL, INC. JACOBSON - FUREY POND CONTRACT NO. 8268

PAYMENT I	NO. 4	1	2	3	4	5	6	7	8	9	******* #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES		UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
CHANGE O	RDER #1, ACCT NO. 10314-84-174	-84400											
- 38" X 60" AE GATE	38" X 60" AE GATE STRENGTH FABRIC - WOVEN	1.00 1,000.00	EACH S.Y.	\$1,661.00 \$2.00		\$1,661.00 \$2,000.00	1.00 1,000.00	\$1,661.00 \$2,000.00	0.00 0.00	\$0.00 \$0.00	1.00 1,000.00	\$1,661.00 \$2,000.00	100.00% 100.00%
-	ADD SUMP TO 6X6 STORM TRUCTURE S-13	3,900.00	LUMP SUM	\$1.00		\$3,900.00	1.00	\$1.00	0.00	\$0.00	1.00	\$1.00	0.03%
CI	HANGE ORDER #1 TOTAL					\$7,561.00	•	\$3,662.00		\$0.00		\$3,662.00	
GRAND TOTALS (CONTRACT TOTALS PLUS CHANGE ORDERS)					\$819,125.43	•		\$137,949.17	•	\$535,517.75	į	\$673,466.92	82.22%